Kisa BS

Partavling med hcp 2021-11-03

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac  Par Poéng % Namn MID Klubb
1 5 203.0 60.41  Gote Olauson - Benny Andersson 12300 12301 KisaBS
2 4 202.1 60.16  Kent Hidsjo - Sven-Arne Svensson 17658 1030 Kisa BS
3 16 194.1 57.77  Bo Flyme - Peter Hahne 1187 Kisa BS
4 11 186.9 55.62  Jorgen Damm - Morgan Johansson 88999 88993 Kisa BS
5 12 181.1 53.89  Fredrik Banck - Mats Mankinen 21847 21853 Kisa BS
6 7 178.6 53.16  Harriet Albinsson - Christer Frisk 44436 43398 Kisa BS
7 6 170.6 50.78  Tomas Holmberg - Claes-Goran Blixt 12046 Kisa BS
8 13 170.6 50.76  Tony Lindblom - Hakan Fahlstrom 21037 19123 Kisa BS - Vimmerby BK
9 14 166.9 49.66  Jan Friberg - Bosse Larsson 56765 56769 Kisa BS
10 9 166.4 49.52  Maria Zackrisson - Leif Zackrisson 43396 43395 Kisa BS
11 8 160.8 47.87  Tommy Larsson - Lars Durefelt 78648 17659 KisaBS
12 15 160.0 47.63  Jyrki Niskala - Per-Arne Ekholm 65402 65413 Kisa BS
13 10 143.7 42.77  Agneta Lindblom - Lillemor Dahlqvist 17656 18677 Kisa BS
14 2 139.5 41.52  Jonas Hijelte - Risto Laine 88994 88882 KisaBS
15 1 132.1 39.30 Dag Johansson - Torbjoérn Forsén 88495 88512 Kisa BS
16 3 131.7 39.19 Liane Ringh - Evy Axelsson 44433 44435 Kisa BS
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr Ut Res Poang Par Kontr Ut Res Par Kontr Ut Res
15 6 44 S= +0Q 420 140 00(13 1 3NN= +3 600 00| 4 6 4v S= a7 420 120 2.0
13 1 24 S+2 #Q 170 100 40|15 6 24 N+2 a8 170 30| 7 15 4v S= *A 420 120 20
14 7 34 S+1  vQ 170 100 4.0(16 12 24 N+2 ¢A 170 3.0[11 3 4vS= *A 420 12. 2.0
16 12 24 S+2 #Q 170 100 40| 8 11 3¢ O-3 46 150 7.0(10 5 3v S+l &A 170 7.0
9 4 24 S+1 #Q 140 6.0 80|10 2 3¢ 0-3 &A 150 70|14 8 2v S+2 &A 170 7.0
8 11 44 S-1 *Q -50 40 100 3 5 34 N= vK 140 11.0( 1 16 2v S+1 &7 140 10.0
3 5 445S-2 *0Q -100 20 120|114 7 34 N= vA 140 11.0| 9 12 3vS-1 +Q -50 13.0
10 2 3v V= ] -140 0.0 140 9 4 240-1 vA 50 140(13 2 4vS-1 a7 -50 13.0
4 Vast Alla 5 Nord NS 6 Ost OV
Par Kontr ut Res Poang Par Kontr ut Res Par Kontr ut Res Poang
11 3 6v N= ¢8 1430 140 00|13 3 3¢ S-1 vA -100 00| 8 15 2NO-1 &2 100 140 0.0
9 12 3NN+2 ¢4 660 120 20| 5 7 264 O+2 #A -170 30| 9 14 INN-1 .7 -50 9. 5.0
1 16 49y N+1 &7 650 80 6.0 9 14 24 O+2 #A -170 30(11 6 14 S-1 ¢ A -50 9. 5.0
4 6 4v N+1 &7 650 80 60| 8 15 44 O+1 &K -450 9.0{13 3 2v N-1 *A -50 9. 5.0
7 15 4y N+1 &4 650 80 6.0(10 1 44 O+1 #A -450 9.0(16 2 INS-1 *A -50 9. 5.0
13 2 4v N= *7 620 3.0 11.0(11 6 44 O+1 K -450 9.0({10 1 INO= v3 -90 4.0 10.0
14 8 4v N= +4 620 3.0 11.0(16 2 44 O+1 #A -450 90| 5 7 14 S-2 ¢ A -100 20 12.0
10 5 6v N-2 &T -200 0.0 140(12 4 44 O+2 ¢Q -480 14012 4 14 O+1 ¢33 -110 0.0 14.0
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par Kontr ut Res Poang Par Kontr ut Res Par Kontr ut Res Poang
6 8 3NV-3 v8 300 13.0 10|11 2 5¢DN= a7 550 0] 1 8 44D0O-2 &K 500 140 0.0
11 2 3v V-3 a7 300 13.0 10|12 7 54DV-3 &6 500 0| 7 9 24 N+2 #Q 170 11.0 3.0
1 5 2NO-1 v3 100 70 70| 1 5 5¢ N= 49 400 0|15 10 24 N+2 &9 170 11.0 3.0
10 14 3NV-1 +5 100 70 70| 6 8 5aV-1 ¢ A 50 0|13 5 24 N+1 «Q 140 . 7.0
12 7 14 0-1 +J 100 70 7.0|13 4 44 V-1 *6 50 0|16 4 24 N+1 #Q 140 7.0
13 4 3NO-1 46 100 70 7.0(10 14 5¢ N-1 a7 -50 012 3 INN+1 #Q 120 11.0
15 9 24 O+1 ¢J -140 20 120|15 9 5¢ N-1 *K -50 0|14 11 INN+1 #Q 120 11.0
316 3NO+1 +vQ -630 0.0 140| 3 16 44 V+1l ¢A -450 0| 2 6 24 N= *Q 110 14.0
10 Ost Alla 11 Syd Ingen 12 Véast NS
Par Kontr Ut Res Poang Par Kontr Ut Res Par Kontr Ut Res
12 3 3NS= a2 600 120 20| 8 10 34 S+1 ¢4 170 10| 8 10 3¢ V-4 vA 200 140 0.0
13 5 3NN= v8 600 120 20|11 15 34 S+1 &K 170 10| 3 7 2NS= +6 120 120 2.0
16 4 3NS= T 600 120 20| 2 9 3#0-3 a7 150 40| 5 16 2y N= ¢ A 110 100 4.0
2 6 2NS= +5 120 80 60| 5 16 24 S= &K 110 6.0 2 9 4¢DO-1 48 100 . 6.0
1 8 3NS-1 v9 -100 60 80| 1 4 3sV-2 a7 100 9.0(11 15 3¢ V-1 48 50 9.0
14 11 2NS-2 +5 -200 30 110| 3 7 3aV-2 a7 100 9.0(14 12 3¢ V-1 vA 50 9.0
15 10 3NS-2 2 -200 3.0 11.0(13 6 2NO-1 3 50 13.0( 1 4 3v N-1 +K -100 12.0
7 9 3NS-3 +8 -300 0.0 14014 12 3#0-1 aA 50 13.0|13 6 3¢ V= 43 -110 14.0
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr Ut Res Poang Par Kontr Ut Res Par Kontr Ut Res
4 8 44DV-2 4 500 140 00| 4 8 3NS+1 +6 430 10| 7 16 3¢ V+4 &5 -190 14.0 0.0
16 6 3v S+1 44 170 120 20|12 15 3NS+1 6 430 10| 5 9 3NO+4 7 -520 120 2.0
2 5 34S+2 vJ] 150 100 40|16 6 24 V-3 v8 150 40| 4 11 6¢ V+1 &K -940 . 6.0
13 7 3« N+1 &A 130 80 60| 3 10 3NS-1 43 -50 7.0[13 8 6¢ V+1 &K -940 6.0
12 15 INN= ] 90 6.0 80|13 7 3#N-1 ¢+4 -50 70|15 1 640+1 a7 -940 6.0
1 14 24 O= vA -110 3.0 110 1 14 3NS-2 46 -100 11.0| 3 6 6NV+1 44 -1020 11.0
3 10 24 O= vA -110 30 110 2 5 3NS-2 4 K -100 11.0|10 12 6NO+1 9 -1020 11.0
9 11 14 O+2 &A -140 0.0 140| 9 11 3NS-3 oK -150 140| 2 14 7NO= *9 -1520 14.0
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr ut Res Poang Par Kontr ut Res Par Kontr Ut Res Poang
5 9 3¢V-3 8 300 140 00| 4 7 4#N= a2 130 00[13 9 3NO-3 v9 150 140 0.0
13 8 24 N+1 ¢Q 140 120 20| 6 10 24 O-1 &K 50 50| 4 7 INV-1 4 K 50 9. 5.0
10 12 24 N= +9 110 100 4.0(13 9 44 0-1 T 50 50| 6 10 INV-1 aK 50 9. 5.0
2 14 Pass 80 60|14 3 340-1 &K 50 50(11 1 INO-1 &K 50 9. 5.0
15 1 2vN-1 +9 -50 6.0 80|15 2 44 0-1 ©vA 50 50({14 3 3#0-1 v4 50 9. 5.0
4 11 INO= vQ -90 40 100(11 1 54DS-1 &A -100 11.0| 5 12 INO= *K -90 20 12.0
7 16 34 N-2 2 -100 20 120|16 8 54DS-1 4A -100 11.0|15 2 INO= +K -90 2.0 12.0
3 6 INO+1 3 -120 0.0 140(| 5 12 44 O= &K -420 140(16 8 INO= &K -90 2.0 120
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19 Syd OV 20 Vast Alla 21 Nord NS

Par Kontr Ut Res Par Kontr Ut Res Par Kontr Ut Res

5 8 44 v9 450 130 10| 5 8 INS= *4 90 0.013 4a V-1 vA 50 0.0
12 4a v9 450 130 10|13 la N= vK 80 20|16 24 V= vA -110 2.0

6 34 v6 200 70 70| 3 2v S-1 aT -100 50| 1 36 V= *4 -140 7.0

7 34 v9 200 70 70| 6 2v S-1 &9 -100 50| 5 24 V+1 YA -140 7.0

9 34 v9 200 70 70| 7 3¢ V= vJ -110 90| 6 24 V+1  vA -140 7.0
13 34 v9 200 70 7.0(14 3¢ V= vJ -110 9.0 7 246 V+1  vA -140 7.0
14 34 v3 170 20 120/| 9 INS-3 *4 -300 13.0| 8 364 V41  &A -170 12.0

3 54DS-2 vA -300 0.0 14012 3v S-3 &9 -300 13.0| 15 36 V+2 vA -200 14.0
22 Ost OV 23 Syd Alla 24 Vast Ingen

Par Kontr Ut Res Par Kontr Ut Res ing Par Kontr Ut Res

5 14 3¢ S= v3 110 130 10| 6 14 3NS+2 #Q 660 40| 8 44D O -2 #A 300 0.0
16 10 2¢ S+1 &2 110 130 10| 8 3 3NS+2 «Q 660 40| 7 44 O -2 &5 100 2.0
15 4 34 V-1 +5 100 100 40| 9 BNN+2 &9 660 40| 6 34 O-1 v3 50 5.0

6 9 INS= a2 90 70 7.0|13 12 3NS+2 #Q 660 40| 9 44 O -1 &5 50 5.0

8 12 2¢ S= aA 90 70 7.0|15 5 3NS+2 #Q 660 40| 2 34 O= v3 -140 9.0

1 INN-1 a2 -50 40 100| 2 4 3NS+1 #Q 630 11.0| 13 34 O= v3 -140 9.0
13 11 44 S-2 aA -100 20 120| 7 10 3NS+1 #Q 630 11.0|11 44 O+2 49 -480 12.0

7 5¢DS-3 #A -500 0.0 140|11 16 6¢ S-1 L o) -100 14.0| 15 49yDN-4 +A -800 14.0
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